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JIIE 432 K4 FEHIZI—X ouT IN GROSS
1 BT EX WFEZE B# 40 37 77
2 FA HF FRD Fx 40 38 78
3T )l =F T 41 38 79
3T g Hirx 7YY 42 37 79
5T =& FH hEf A Ay} 43 37 80
5T =2 xE hEEAY-N 40 40 80
5T N AE T 40 40 80
8T T+H B WFEEERE 38 43 81
8T HE #=x WFE & EE 39 42 81
8T INK =Y WFHM L E 40 41 81
8T = EXEF TV 42 39 81
12T JUE Fi NS 39 43 82
12T WA Hif WY NE| 40 42 82
12T MECEESS BEETEE 43 39 82
12T ]/ Mk BEETEE 44 38 82
16T I mMEF INEZ 39 44 83
16T JEH BEF WY NE| 43 40 83
16T CITTEEES 2o BILE 41 42 83
16T A2 EE WY NE| 43 40 83
20T Lt BEF 7)Y 43 41 84
20T BEH EHL=X INEZ 43 41 84
22T VS Y NE| 42 43 85
22T Mg FE FRD Fx 42 43 85
22T tHE BXx T 42 43 85
25T K BF WFRHEE 45 41 86
25T Fﬁ%i =F NG 40 46 86
25T Bt BEF IhNES 42 44 86
28T AR E*D% A= AN 44 43 87
28T E A FE ARV} 44 43 87
28T AH BAE WFE & E& 43 44 87
28T TH EBF FE ARV 44 43 87
28T hFs LIFE 7)Y 43 44 87
28T FiE ERF WFHEMK LA E 44 43 87
28T BR8Nl E=F N VNE 45 42 87
35T x JIEF N VNE 41 47 88
35T R X NS 43 45 88
35T = 8F Ty 44 44 88
35T =ZH FH WFE & E& 42 46 88
39T =l ARPE VN 42 47 89
39T ERK BE VN 45 44 89
41T & XTI NS 45 45 90
4T HHE C=x Y NE| 47 43 90
43T H #®F Ty 45 46 91
43T W& HAF FEDFHE 45 46 91
45T HZT_ ¥ L2 EILE 49 43 92
45T =8 FF ZEELE 46 46 92
47T AT _FiL YN 44 50 94
47T fEiE IFF 2 ELTE 44 50 94
49 FEE sh3 WFE & EE 47 52 99
50 A ERF FEDFHE 51 49 100
51 AR _BF WFEHREH 52 59 111
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